Answer Key

Practice B
1. (x + 4)(x> — 4x + 16)
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(x + 6)(x> — 6x + 36)

(x — 10)(x2 + 10x + 100)
(X — 7))@ + 7x + 49)
(2x— )42+ 2x+ 1)

(2x — 5)(4x2 + 10x + 25)
(3x — 2)(9%2 + 6x + 4)

(2x + 10)(4x? — 20x + 100)
(3x + 8)(9x2 — 24x + 64)
(4x + 3)(16x2 — 12x + 9)

. (10x — 1)(100x2 + 10x + 1)

. (5x + 4)(25x2 — 20x + 16)

. x=3(x*+5 14 x—4x+ 2

. X+2(x+7) 16 (x— 432+ 2

. (x+1)0Bx+1) 18. (x — 6)(2x* + 5)

. X—=23%x+2 20. x-5Kx-3)x+3
X+ DX —dH(x+ 4

. (x—=1D2x - 3)(2x + 3)

. (X=3)4x - D(4x + 1)

. (x+2)(Bx —2)(3x + 2

. (2x — 3)(2x + 3)(4x2 + 9)

=3+ 3) 27. (+ 33X+ 2)
.+ 3)(%—2) 29. (X% —-3)(x2+ 8

. (=5 -2 31. 2X(x — 10)(x + 10)
. 2x(2x — 3)(2x + 3)

.33 — 1D(3x + 1)

C3x— DX+ D)+ 1)

20+ 2)(x2+6) 36. —(X+ 7))+ 3

. —6,-2,2 38.2 39. —3 40.3 41. —7
. —3,3,5 43. —2,2 44. Norea solutions
. —3,-1,1,3 46. —5,5

. —V6,-2,2,./6

L —2Y2,—2,2,2/2 49. 750 1t3

. X3 —15x2 + 50x = 750 51. 15

. 10ft by 15ft by 5ft



